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60¢5 ae. = 800 2. (60X 50=3000).
60><5 cr. = 300 cr. (60X 500=30000).
60<5 x3. = 300 x1. (60><5000=300000).
2 60756 e. — 3360 e. (60X 56=3360).
60><56 4. = 3360 4.(60X 560=33600) n. r
3 60<563ea.—= 33780ea.(60 >500=30000
6060 — 3600

60X 3§ = 180
33780
1 25 ><9eA =225 ea. (20X9=180
g 5X9= 45
225)

25><9 Ac.= 225 zec. ( 25>X90=2250).

1 3009 X<ea.= 2700 ea. (300X 9 =2700).
300 >94c. =2700 2. (300X 90= 27000).
300 X9er. = 2700 cr. (300><900=270000).

2 300><91e. = 27300 e. (300 90= 27000).

300 1= 800

27300

300<912c.=273004 (300X 910=273000).
300><91¢r.=27300cT.(306><9100=273000

3 300><914e.—=274200e.(300>< 9060=270000

300 10= 3000
300 4= 1200

274200
1 304<X9 ea =2736 ea. (300 <X9= 2700
: 4X9 = 36
2736)

3049 ec. =27360 (304 x90—27360).




